

			Vendor	Ranking			Page 1 of 1
Letting:	08190813	August 13, 2019 02:30 PM	Call Order	: 003	Contract:	E8S04	
District:	Turnpike		Counties:	BROWARD	Fed Aid No	: N/A	
Contract Time:	150 CALENI	DAR DAYS			Project(s):	44261315201 (*)	
Contract Desc:	PEDESTRIA	N FENCE REPLACEMENT - I	MP 48				

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	LEON AMERICA CONSTRUCTION LLC	Responsive	Winning bid	\$449,957.00	100.00% Int	ent to AWARD
2	CONSTRUCT GROUP CORP.	Responsive	Non-Winning Bid	\$655,952.20	145.78%	
3	WEEKLEY ASPHALT PAVING, INC.	Responsive	Non-Winning Bid	\$1,202,873.28	267.33%	
	GD SUPPLIES, LLC	Non Responsive	Non-Winning Bid			

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: SEPTEMBER 10, 2019 AT 4:00 PM



Page	1	of	5
------	---	----	---

Letting:	08190813	August 13, 2019	Call Order:	003	Contract: E8S04
District:	Turnpike		Counties:	BROWARD	Fed Aid No: N/A
Contract Time:	150 CALEND	AR DAYS			Project(s): 44261315201 (*)

Contract Descr: PEDESTRIAN FENCE REPLACEMENT - MP 48

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to remove and replace pedestrian fence enclosure and all associated components at Bridge No. 860361 (Miramar Parkway) on Florida's Turnpike, Milepost (MP) 48.0.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Alter Item Description	nate Quantity Units	(1) LEON A CONSTRUC		(2) CONSTRU COF		• •	EY ASPHALT IG, INC.
() indicates item is bid as Lump S	um	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	MAINTENANCI	E SUPPORT SERV	/ICES (MH)				
0005 0101 1 MOBILIZATION	(1.000) LS	50,000.00000	50,000.00	40,500.00000	40,500.00	103,000.00000	103,000.00
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	30,000.00000	30,000.00	70,000.00000	70,000.00	181,000.00000	181,000.00
0015 0102 14 TRAFFIC CONTROL OFFICER	1,984.000 HR	67.00000	132,928.00	50.00000	99,200.00	50.00000	99,200.00
0020 0102 60 WORK ZONE SIGN	8,304.000 ED	0.50000	4,152.00	0.27000	2,242.08	0.25000	2,076.00



Page 2 of 5

Letting:	08190813	August 13,	2019	Call Order:	003		Contract:	E8S04	
	o / Item ID Alte escription	rnate Quanti Units		EON AMERICA		(2) CONSTRU COP			EY ASPHALT G, INC.
() indica	ates item is bid as Lump		Unit Pric	e Ext Am	ount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0001	MAINTENA	NCE SUPPORT	SERVICES (MH	H)				
	102 74 1 .IZING DEVICE- TYPE 1, OR LCD	22,306.0 ES I, II, DI, I	00 0.5 D	0000 11	,153.00	0.12000	2,676.72	0.12000	2,676.72
	102 74 2 IZING DEVICE, TYPE	1,100.0 E III, 6' E	00 0.8 D	0000	880.00	0.27000	297.00	0.26000	286.00
CHANNEL	102 74 7 IZING DEVICE- PEDI GITUDINAL CHANNE	-	00 7.0 .F	0000 1	,134.00	3.50000	567.00	7.00000	1,134.00
	102 76 SOARD / ADVANCE W PANEL	510.0 /ARNING I	00 12.0 D	0000 6	,120.00	5.85000	2,983.50	5.50000	2,805.00
	102 99 E CHANGEABLE ME IPORARY	238.0 SSAGE I	00 10.0 D	0000 2	,380.00	11.50000	2,737.00	12.00000	2,856.00
	102150 1 E REGULATORY, SIG	412.0 GN I	00 10.0 D	0000 4	,120.00	5.50000	2,266.00	6.00000	2,472.00
	102150 2 PEED DISPLAY UNIT	412.0 I	00 10.0 D	0000 4	,120.00	5.50000	2,266.00	6.00000	2,472.00
	104 10 3 T BARRIER	200.0	00 6.0 .F	0000 1	,200.00	2.40000	480.00	1.80000	360.00



Page 3 of 5

Letting:	08190813	August 13, 201	9 Ca l	l Order: 003		Contract:	E8S04	
Line No / I Item Desc		te Quantity Units	(1) LEON A CONSTRUC		(2) CONSTRU COF			EY ASPHALT IG, INC.
() indicates	item is bid as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	MAINTENANCE	E SUPPORT SERV	/ICES (MH)				
0065 0104 INLET PROTE	18 ECTION SYSTEM	16.000 EA	300.00000	4,800.00	95.00000	1,520.00	150.00000	2,400.00
0070 0107 LITTER REM	-	5.450 AC	200.00000	1,090.00	42.00000	228.90	100.00000	545.00
) 4 10 F EXISTING CONCRE	2.000 ETE SY	500.00000	1,000.00	500.00000	1,000.00	260.00000	520.00
CONCRETE I	∣ 6 11 PARAPET, I/BICYCLE, 27" HEIGI	712.000 LF HT	150.00000	106,800.00	209.00000	148,808.00	438.38000	312,126.56
) 10343 ′PE R, 7.1-8.0, W/FUL	712.000 L LF	90.00000	64,080.00	360.00000	256,320.00	652.00000	464,224.00
) 60211 E, TYPE B, SINGLE, (2.000)- 6.0' EA	2,000.00000	4,000.00	930.00000	1,860.00	1,360.00000	2,720.00
0095 0999 INITIAL CON ⁻ NOT BID	9 25 FINGENCY AMOUNT,	(1.000) DO LS	20,000.00000	20,000.00	20,000.00000	20,000.00	20,000.00000	20,000.00
0001 MAINT	ENANCE SUPPORT SERVICES (MH)	Section Totals:		\$449,957.00		\$655,952.20		\$1,202,873.28



Page 4 of 5

Letting:	08190813	August 13, 201	9 C	all Order: 003		Contract:	E8S04	
Line No / Iter Item Descrip		te Quantity Units	· · /	I AMERICA JCTION LLC	· · ·	RUCT GROUP DRP.	• •	LEY ASPHALT ING, INC.
() indicates ite	m is bid as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract (Grand Totals:		\$449,957.00		\$655,952.20		1,202,873.28



		Tabulation of Bids							
Letting:	08190813	August 13, 2019	Call Order: 003	Contract:	E8S04				
			to file a protest within the time pres						

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.